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Choose the correct answer for questions (1 —3):
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Choose the correct answer for questions (1 —3):
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Choose the correct answer for questions (1 —3):

(2016)
a) -1

b)1
c) 0

sic Aglaa gihia Aad Aall olS 13X = 240000 oda quailiy L Laa

a) f'(2)<0 , f'(2)=0
b) f'(2)>0 , f"(2)>0
. fl2)=0, f'(2)>0
o fl2=0 , f'(2)<0
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Choose the correct answer for questions (1 —3):

oLl Alal) am)l) Janid
(2016) 0da guuspall Al Lpallly inia e A0V cfyland) (6
a) x=1 J.'\;:ng‘}ﬁdhafa\edczd\dﬂ

b) x=-5 e i Juail aae dlall

0) X =-1 e A Y Juail pae dlall

d) x=1 e ey Juai s dlal

(2017) F ooy ="x +2e7 A Akida aag)

a) f'(2) =5V
b) f'(2) = 5=
o) f'(2) = %\/E + 4e?

d) f'(2) = = + 4e?

fl2)=63 fl2)=0 <S5, xeR ad J RN ALG g Abuaia A3 fly) S 1)

(2016) T fix) Wl Ay s L Laa el
a) x =2 e dlaa dac dad f(yx) Al
b) x =2 e dlae g puadad f(x) Ul
Q) X =06 e Alas oo dad f(x) Aol
d) X =6 ic idae 5 juadad f(x) Al
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Choose the correct answer for questions (1 —3):

335 ga e A5V el
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b) lim v2x +6

f(x)=sinx +e” u\mwh@maémwgg\

dy _ d3y
dx  dx3
dy _d*y

dx  dx*

(2014) fdasaa 4N @ ) 61y = f(x) Adlalt A ) an N

a) f'(1) >0
b) f'(=2) <0
¢) f'(=3)>0

d) f'(4) <0
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=
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Choose the correct answer for questions (1 —3):

2x > +9x > +9x

Iim
x—>-3 x +3

a) —8(1+ 6x)_?4
b) —64(1 + 6x)7
c) -8(1+ 6x)§
d) —64(1 + 6x):

f(x) dlall 8 — x#-1 Alalt Al St sl

b) s a (pitads
c) da s e

) G i ] ol
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